P4

) 7; C, sin X
YE)r? =D Cysiny =7 =D =7

5o %-"7‘5’//7>< M‘H«Lw? solition .

yn=1 7
B §ylrry=o y
Jlo) =0 @1
(1)=1
J ’\\;:cmw

y//1—7!"? _'r-) y :(, cos 1Y ‘l‘CZ_S?l;l X
g(2)70 D eosO+Gsm0 =0
= R

S0y = L Sin X, The y(')w-:) G Sumw=1
> G931

= 07
This s 4»62“0(/ o Flui wffpm}rf" poblyn s ho saLapion .

Bub b et f y'+1y =0

v[ﬂ)‘:o
(y[ )= 0O
_ < o 1
y/cl cos 7r>(+CZSm7rx

QG ews Ot C,5n 0 =0
c =0
50 gy =cySinn ()= 0=) c,Sam=0
7 2 N g \.iﬂ/\/
7214:‘/(:4 MW s&asl‘;w‘:&
Po Ahis prstlon has indpildely momy solutions
Y = ConTx  for amy cmsbnt =






